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<p>—: #EiA<br>

&nbsp;&nbsp;&nbsp;&nbsp,EEFHIERREI—EEER, THERFREEARITHEKBIRIRE
MEEERREEREBUNEIREIESER, HEERDER, pg NOoRIEEE LA—PARERDEIK
BENJUR, 9FfE, MUGKRERRERNRTT, SEEESHEPELE 7S (E2E LRAR—R
BRENMEESANT N NR), <br>

- /\§<br>

&nbsp;&nbsp;&nbsp;&nbsp;2.1 tlEEER<br>

&nbsp;&nbsp;&nbsp;&nbsp;create table t student(<br>
&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;student id serial8 primary key, <br>
&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;name varchar(255), <br>
&nbsp;&nbsp;&nbsp;&nbsp;&8nbsp;age int4, <br>
&nbsp;&nbsp;&nbsp;&nbsp;8nbsp;create_date date<br>

&nbsp;&nbsp;&nbsp;&nbsp;) <br>

&nbsp;&8nbsp;&nbsp;&nbsp;2.2 GlIESXF<br>

&nbsp;&nbsp;&nbsp;&nbsp;create table t student 1 1000(check (student id &gt;=1 and stu
ent_id &It;1000)) inherits(t_student);<br>

&nbsp;&nbsp;&nbsp;&nbsp;create table t student 1000 2000(check (student id &gt;=1000
nd student_id &It;2000)) inherits(t : student);<br>

&nbsp;&nbsp;&nbsp;&nbsp;create table t student 2000 3000(check (student id &gt;=2000
nd student_id &It;3000)) inherits(t_student);<br>

&nbsp;&8nbsp;&nbsp;&nbsp;2.3 BlIFEfHAESERE <br>

&nbsp;&nbsp;&nbsp;&nbsp;create or replace function t_student insert_trigger()<br>
&nbsp;&nbsp;&nbsp;&nbsp;returns trigger<br>

&nbsp;&nbsp;&nbsp;&nbsp;language plpgsql<br>

&nbsp;&nbsp;&nbsp;&nbsp;as

</p><div class="language-math" >

&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;begin
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;if(new.student id &g
;=1 and new.student_id &lt; 1000) then
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;insert into t_student
1 1000 values(new.*);
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;elsif(new.student id &gt;=1000
nd new.student id &lt; 2000) then
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;insert into t_student
1000 2000 values(new.*);
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;elsif(new.student _id &gt;=2000
nd new.student id &lt; 3000) then
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;insert into t_student
2000 3000 values(new.*);

&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;else
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;raise exception 'stu
ent_id out of range.Fix the t_student insert_trigger() function!’;
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;end if;
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;return null;
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp;end;
&amp;nbsp;&amp;nbsp;&amp;nbsp;&amp;nbsp; </div>

¢ <br>

&nbsp;&nbsp;&8nbsp;&nbsp;2.4 GlIzEEfHAZS<br>

&nbsp;&nbsp;&nbsp;&nbsp;create trigger insert_t student parttion_trigger before insert on t
student for each row execute procedure t_student insert_trigger();<br>

=: Mk <br>

&nbsp;&nbsp;&nbsp;&nbsp;3.1 BAEE<br>

&nbsp;&8nbsp;&nbsp;&nbsp;insert into t_student (student_id,name,age,create_date) values(1,'
hangsan',21,now());<br>
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&nbsp;&nbsp;&nbsp;&nbsp;insert into t_student (student_id,name,age,create_date) values(2,'l
si",21,now());<br>

&nbsp;&nbsp;&nbsp;&nbsp;insert into t student (student id,name,age,create_date) values(1
00,'wangwu’,21,now()); <br>

&nbsp;&8nbsp;&nbsp;&nbsp;insert into t_student (student_id,name,age,create_date) values(1
01,'zhaoliu’,21,now());<br>

&nbsp;&nbsp;&nbsp;&nbsp;insert into t_student (student_id,name,age,create_date) values(2
00,'zhaoqi',21,now());<br>

&nbsp;&nbsp;&nbsp;&nbsp;insert into t student (student_id,name,age,create_date) values(2
01,'wangba™,21,now());<br>

&nbsp;&nbsp;&nbsp;&nbsp;3.2 BEEEIE<br>

&nbsp;&nbsp;&nbsp;&nbsp;3.2.1 BEEEFRKEUE<br>
&nbsp;&nbsp;&8nbsp;&nbsp;postgres=# select * from t_student;<br>
&nbsp;&8nbsp;&nbsp;&nbsp;student id | name | age | create date<br>
&nbsp;&nbsp;&nbsp;&nbsp;------------ LREEEEELLEE +==n- +omemmmmmenaae <br>
&nbsp;&nbsp;8nbsp;&nbsp; 1 | zhangsan | 21 | 2018-09-11<p></p>
<p>&nbsp;&nbsp;&nbsp;&nbsp; 2 | lisi | 21 | 2018-09-11</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp; 1000 | wangwu | 21 | 2018-09-11</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; 1001 | zhaoliu | 21 | 2018-09-11</p>
<p>8&nbsp;&nbsp;&nbsp;8nbsp; 2000 | zhaoqgi | 21 | 2018-09-11</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; 2001 | wangba | 21 | 2018-09-11<br>
&nbsp;&nbsp;&nbsp;&nbsp;3.2.2 BESXFEE<br>
&nbsp;&nbsp;&nbsp;&nbsp;postgres=# select * from t_student 1 1000 ;</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;student id | name | age | create date</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;------------ URCEELEEELEE Pt LGEEETEEEELEEE </p>
<p>8&nbsp;&nbsp;&nbsp;8nbsp; 1 | zhangsan | 21 | 2018 09-11</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; 2 | lisi | 21| 2018-09-11</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;(2 rows)</p>

<p>8&nbsp;&nbsp;&nbsp;&nbsp;postgres=# select * from t student_ 1000 2000 ;</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp; student_id | name | age | create_date</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;------------ +-memmeea- +==nm- tommmmmeemmees </p>
<p>8&nbsp;&nbsp;&nbsp;8nbsp; 1000 | wangwu | 21 | 2018-09-11</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; 1001 | zhaoliu | 21 | 2018-09-11</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;(2 rows)</p>

<p>8&nbsp;&nbsp;&nbsp;&nbsp;postgres=# select * from t student 2000 3000 ;</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; student_id | name | age | create date</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;------------ +-memmeea- +==nm- tommmmmeemmees </p>
<p>8&nbsp;&nbsp;&nbsp;8nbsp; 2000 | zhaoqi | 21 | 2018-09-11</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; 2001 | wangba | 21 | 2018-09-11<br>
&nbsp;&nbsp;8nbsp;&nbsp;3.3 HiT<br>

&nbsp;&nbsp;&nbsp;&nbsp;postgres=# explain select * from t_student where student id be
ween 1 and 10;</p>

<p>&nbsp;&nbsp;&nbsp;&nbsp; QUERY PLAN</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp;--------==--==--==mmm
----- </p>

<p>&nbsp;&nbsp;&nbsp;&nbsp; Append (cost=0.00..12.10 rows=2 width=532)</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp; -&gt; Seq Scan on t_student (cost=0.00..0.00 rows=1 width
532)</p>

<p>&nbsp;&nbsp;&nbsp;&nbsp; Filter: ((student_id &gt;= 1) AND (student_id &lt;= 10))</p>
<p>&nbsp;&nbsp;&nbsp;&nbsp; -&gt; Seq Scan on t_student 1 1000 (cost=0.00..12.10 rows
1 width=532)</p>

<p>&nbsp;&nbsp;&nbsp;&nbsp; Filter: ((student_id &gt;= 1) AND (student id &lt;= 10))</p>
<p>8&nbsp;&nbsp;&nbsp;&nbsp;(5 rows)<br>

M9: F==E<br>
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&nbsp;&nbsp;&nbsp;&nbsp;4.1 EFX—EABEEEIE, NRECHBEUERIR LMD FIRIEANE,
SERAIREUBHITRD, REHITREIERIIRGIE, SoRIBMASEIOIETEES, BNEDIRE
7, HEMSEAIIZENSXERE <br>

&nbsp;&nbsp;&nbsp;&nbsp;4.2 —EETEAMASERERY range SEE, RIFERFILFENSERE!
¥, BUBASIEBLHEERNESIR exception, MRIBAFNSRE, REEQEFNSXEKIEE
AR BSEREENR] <br>

&nbsp;&nbsp;&nbsp;&nbsp;4.3 MBI range EXFEREPBRTAR, id 9H0E, BN MPRE
HIEEISLERtYS), BrlLURREIFEREERD <br>

&nbsp;&nbsp;&nbsp;&nbsp;4.4 where BITIIRFERBD D XFERNE, SEBEXNSXEREREE
TR, WREEHMERCRFERANE, BETES XEREEINERS I FRIESEHREIIETRIEE <b

>

h: ZEFH<br>

&nbsp;&8nbsp;&8&nbsp;&nbsp;pg B XHY: <a href="https://|d246.com/forward?goto=https%
A%2F%2Fwww.postgresql.org%2Fdocs%2F10%2Fstatic%2Fddl-partitioning.html" target="_bl
nk" rel="nofollow ugc">https://www.postgresql.org/docs/10/static/ddI-partitioning.html</a

</p>
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